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02  B 

03  A 

04  B 

05  C 

06  A 

07  B 

08  A 

09  C 

10  B 

11  C 

12  F 

13  A 

14  H 

15  B 

16  G 

17  E 

18  C 
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20  D 

21  H 

22  B 

23  D 

24  C 

25  E 

26  G 

27  A 

28  F 

29  B 

30  D 

 

31  A 

32  G 

33  E 

34  H 

35  B 

36  C 

37  A 

38  B 

39  A 

40  C 

41  A 

42  B 

43  B 

44  B 

45  A 

46  C 

47  B 

48  A 

49  A 

50  C 

51  WAS SET 

52  MORE DIFFICULT 

53  AS MUCH 

54  POSSIBLE FOR 

55  RELUCTANT / HESITANT  

56  WHICH CONTAINS SEVERAL PEAKS OVER 

57  TO BEING THE SITE OF 

58  TO BE A PAINTER RATHER THAN 

59  THOSE WHOSE SALARIES ARE LOW 

60  SEEM TO HAVE GIVEN UP 
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